See chart above for roll width capacities

Adjustable mandrel arm shown in setting #1 (fully retracted); 1.25" between settings

Shown with 3" mandrel as reference only; mandrels sold separately

NOTE: add / subtract

P-10830 1/2" fiber washers
as necessary to create tight
running fit for release lever operation

Set pin in holes to limit travel when loaded o PART NUMBER DESCRIPTION Qry.
MIN - MAX rollwidths. in{ | 1 |K040062 M6 x 16 Socket FCHS
: : : . K040126 M8 x 1.25 x 16 Hex SHCS
Weight, Ib (k | setting 1 setting 2 | setting 3 | 3 |K040182 M12 x 1.75 x 30 Hex SHCS
4 [K040444 M5 x 12 Socket FCHS
330 (150) 14.5 - 19 (368 - 483) 17 - 22 (432 - 559) 19.5- 24.5 (495 - 622) 5 |K040825 M10 lock washer
6 |K041290 M5 x 16 LHSCS
300 (136) 14.25 - 19.5 (362 - 495) 16.75 - 22.5 (425 - 572) 19.25 - 25 (489 - 635) ——Koa1458 M8 lock washe
250 (113) 14 - 20.25 (356 - 514) 16.25 - 23.25 (413 - 591) 18.75 - 26 (476 - 660) 8 |K041643 M8 x 1.25 x 20 HHCS
200 (91) 13.25 - 21.25 (337 - 540) 15.75 - 24.25 (400 - 616) 18 - 27.25 (457 - 692) 9  |L-10003-22* Torsion Spring
150 (68) 12.5- 23 (318 - 584) 15 - 26 (381 - 660) 17 - 29.5 (432 - 749) 10 L1004 0o _ABS Cover
100 (45) 10.75 - 26.5 (273 - 673) 13 - 30.25 (330 - 768) 15.5 - 33.5 (394 - 851) 12 |L-10413-07* MRT-330 pivot mechanism
Conforms to ASME B30.20-2018 & ASME BTH-1-2017: Design Category A, Service Class 0 13 [L-10500-04 R1* Release Lever
14  |L-10627-02 R6 MRT-330 adj. mandrel arm tube

15  |L-10627-09 R2

MRT-330 adj. mandrel arm

16 |L-10673-02

MRT-330 crane arm (auto-level)

17 |L-10680

MRT-330 auto-level kit

18  [L-10682-03 R1

Ball Lever Bar

19 |L-10965-01*

Mandrel Locking Plate

20 |L-10965-02*¢

Std / HD Locking Tab

21 L-11242-02 R1

MRT turning handle (universal)

NN alalad] alal ] alalalalalalalalal alala —\I\)I\)I\)I\Jl\)—\—\a;

[245] 22 |P-10087 Revolving Handle
Max. Loaded G 966 phicaded 23__|P-10388 5" x 4.5" Quick Release Pin
Position TROLLEY 24 |P-10829 retractlng thumb screw
_ 25 |P-10830* 1/2" fiber washer
74D ¢ 26 [P-11581 M12 Oversized Flat Washer
\ 27  |P-11831 Red Ball Lever Knob
q [142] 28 |P-40362* 8mm ID plain bushing
B IEE@ 5.58 DROP 29 |P-40384* 1/2" 1D flange bushing
30 [P-40459* 1/2" 1D plain bronze bushing
Iltem Adjustment for use with toggle mandrels:
d L-10965-03 Captive Support +1
q (64]
$»2.50
S [793]
[728] 31.21
o ol 28.68
+64
[995 0 ]
-H. ¢ 39.17%25
;ﬁ 3
+64
S = [480 0 ] M5 x 16 screw;
| ¢ 18 g*25 screw head is Adjustable arm settings.
2-0.0 PIN REQUIRED FOR inside crane arm Move pin for settings #1, #2, #3
PNEUMATIC MANDRELS Shown retracted in Setting #1
®
®
(89]
3.50
Adjustable arm settings.
Shown retracted in Setting #1——
L-10413-07 MRT-330 pivot mechanism sub-assembly REVEIGNS
REV. DESCRIPTION DATE INIITALS
ITEM NO.| PART NUMBER DESCRIPTION QTYy. R new manarel locking ab /1812013 GBD
40 |L-10040-03 R6 Top Pivot Plate 1 R2 Pivot stop added, pin and groove 772015 RPC
41 L-10413-01 Pivot Pin 1 R3 Updated to Universal Turning Handle 5/24/2017 RPC
42 L-10413-04R5 Bottom Pivot Plate 1 R4 New ball lever 7/19/2019 JYCc
43 P-10088 Slotted Nut 1 PROPRIETARY AND CONFIDENTIAL MRT-330-AL-ADJ CAPACITY PART NO. REV. IF;\‘ADFTEETI\AEARREE&\A/X/IITE“S%D SCALE 1:8 WEIGHT (Ib) = )
44 |P-10089 Tab Washer 1 THE INFORMATION CONTAINED IN THIS | Max Capacity: 330 Ib (150 kg) L-10682 R4 R4  SParerarTs TosTock DO NOT SCALE 46126 ap=—t 0 1 I 4 18
* - . " DRAWING IS THE SOLE PROPERTY OF Width: see chart APPROVED BY DATE APPROVED DESIGNED BY DATE CREATED ; SC‘H LUMPF u%
45  |P-10364R1 Gripper Retaining Pin 1 SCHLUMPF USA INC. ANY Widths less than MIN: Core stop required Rich West 5/2212008 o
46 |P-10823 1/4 x 1/2 Steel Sprirllg Pin 1 ltem Adjustment for no limit rotation WHCR)EEwTDﬁggfxéTﬁéﬁTPgS@SSQON Mangg?ﬁi;’?ﬂgﬁitﬁgre Stop MODEL (DRAVNBY | DATE PRINTED rop o Enterprise Drive, Sute 1, Windham, ME \?v‘.‘socahzlul#lﬁffi\ﬁc.com SIZE
47 |P-40040 Thrust Ball Bearing 2 P-10364R1 Retaining Pin -1 OF SCHLUMPF USA INC. IS PROHIBITED. MRT-330-AL-ADJ Rich West 1111812019 E-Mail- engineering@sohlumpf-inc.com ; sales@sehlumpfinc.com B

Sheet 1 of 1



	Sheet1
	Drawing View2
	Drawing View3
	Drawing View13
	Drawing View14
	Alternate Position2
	Drawing View15
	Drawing View16


